
2015 Chevy HD 2500-3500
Bumper Grille

1

Locate the supplied brackets shown above then place 
supplied u-clip on the short end of both brackets.

Next place billet grille into bumper opening and center. 
Attach billet grille to the already placed brackets using 
the supplied 10-24 x 1" bolts.

2

3

PART#  47401 (Brushed) 47402 - (Polished) 47403 - (Black)  Upper

Hardware
2    -    Brackets #-4438

2    -    10-24 x 1" bolts

2    -    10-24 U-Clips

2    -    1/4-20 x 1" Bolts

2    -    1/4-20 Lock Nut

2    -    1/4" Flat Washer

Next locate and remove the stock 10mm bolts located 
on each side of the bumper opening. Next attach 
brackets using the just removed 10mm bolts as shown 
above.

U-Clip

NOTE: If you vehicle does not have the 10mm bolts, use 
the 1/4-20 x 1" bolts, wahers & lock nuts provided.

http://www.carid.com/carriage-works/
http://www.carid.com/billet-grilles.html

